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hit charge investigation
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¢ first run standard PulseFinder and HitFinder (no tracking)

¢ estimate the hit charge only using the central pad and hit position
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fraction of the charge in the central pad
w: half of pad width
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fraction and difference with traditional charge (B=1T)
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Z=2.5cm
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| Charg'e Row45

©
(=]
o

charge by row (B=1T)

Charge: MP
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¥2/ndf = 115/9
yO = 676= 17
dy/dx =-0.418 = 0.0063
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Charge: MP

v2/ndf = 13.8/9
yO = 563 1.5
dy/dx = -0.26 + 0.0055
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B=0 (2000 events)

/Z=50cm L= YC
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Entries 1357 Entries 1373

Mean 0.05352 Mean -0.06553
RMS 0.4085 RMS 0.1597
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[ prob {rowserial==45&&nhitrow==1&&charge<10000} | — htemp = [ prob {rowserial==45&&nhitrow==1&&charge<10000} | — htemp 5
ntries ntries

Mean 0.2207 Mean 0.6549
RMS 0.002377 RMS 0.07241
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Charge: MP
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¥*/ndf = 9.99/9
yO = 571 48
dy/dx = -0.201 = 0.019
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Charge: MP

x2/ndf = 10.7/9
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dy/dx =-0.133 £ 0.019
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YHit - YPadCenter
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charge on the side of side pad (B=1T)
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NPulses Row45
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x*/ndf = 0.0106/9
yO = 342+043
dy/dx =0.000328 = 0.0017
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Number of Pulses

x2/ndf = 0.297/9
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Charge_Row45
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rg‘cg .Evs, Centml Charge | Side Charge vs.dY
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Charge_Row45
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¥*/ndf = 50.3/7
yO = 361= 1.1
dy/dx =-0.199 = 0.0038
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Test Beam Data 2012: low gain (HV=340V)
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x2/ndf = 28.3/8
yO = 381+ 12
dy/dx =-0.213 = 0.004
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Charge_Row45
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Test Beam Data 2012: shaping time (HV=355V)
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toy MC of cross talk
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